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SHAIRA 14,319,041 12,59,041 1,723,000
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= 867,000 516,600 350,400
Al 11,932,041 11,079,441 852,600
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= 1,220,000 700,000 520,000
< 840,000 489,600 350,400
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MU IHEE 2 5,087,558 3,384,558 1,703,000
= 1,200,000 700,000 500,000
= 840,000 489,600 350,400
Al 3,047,558 2,194,958 852,600
Hes Nem el 841,032 806,032 35,000
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= 1,200,000 700,000 500,000
= 840,000 489,600 350,400
Al 1,960,000 1,142,400 817,600
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< 840,000 489,600 350,400
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2 340,000, 0002 340,000 8,395 331,605
2oy 29 405,300 385,300 20,000
= 20,000 0 20,000
Al 385,300 385,300 0
(2)EFH HLER bIE2H 20,000 0 20,000
= 20,000 0 20,000
206 T2 4| 20,000 0 20,000
= 20,000 0 20,000
01 = 20,000 0 20,000
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= 20,000 0 20,000




